= AH O
N = 0 &8 AF S & Al A
201MEE 204 B3I 222510 ~ 2225
A 2225
Hi: R20=RE
S StER3 Y2 |4 (e dS)
= X XH Ct2l (S = (o] A2 OH x'—-ILj—“:— =2}
N33 S2(3H) - NEAME - BHY Ol &F2H Ol AF o8 Hlm=s2
22250 8,545,636 11,247,150 N2,701,514
= 175,000
z 215,000
p) 2,990,900
= 77,512
< 565,520
Al 4,521,704
S3isrE 914,846 1,279,746 A364,900
2 77,512
== 14,000
Al 823,334
SERG g2 84 470,900 470,300 600
< 10,000
Al 460,900
St A 8,000 8,000 0
307 GI2t0IH 8,000 8,000 0
04 QItSHAIE X 8,000 8,000 0
Ost2 Al 8,000
EH 85 A 402,800 402,800 0
201 Lt AH| 32,500 32,500 0
03 AR HH| 32,500 32,500 0
OFEHEH Rl ER2T L AFRHIE 2,500
OB T S#HAIRH 30,000
301 LEtEAS 185,300 185,300 0
10 SALAHI 2 AIZ 176,000 176,000 0
OEHEHA SUHE HMSUHS IHA
22,000,000 * 8= 176,000
12 JIEtEAZ 9,300 9,300 0
OEHH Al&t=2 9,300
SE e 1,500,000 * 1S 1,500
o 1,200,0008 * 2= 2,400
o Zed 1,000,000& * 2= 2,000
oL 800,000 * 3Ms= 2,400
ogd 500,000 * 1JHs 500
o Q& 500,000& * 1= 500
307 CI2tOlA 185,000 185,000 0
04 QIZFSHALE X 185,000 185,000 0
OEHE A 170,000
OEHER Ol = Al 15,000
EHed DIZ0sct 2HXS 5,100 5,100 0
307 GI2t0IH 5,100 5,100 0
02 DIZHEASE X 5,100 5,100 0




SA: 222D
MM 25058 E
GOl BERS 22 S4 (Etel: & e
_ _ _ Muo
SA B G(E) - NEAY - B 0l & o i HREZ
OZEHO0| L AHAIZO| HBEE 5,100
BE0IZ 253 AL 20,000 20,000 0
= 10,000
Al 10,000
307 BI2t0IA 20,000 20,000 0
= 10,000
Al 10,000
02 SIABANBE 20,000 20,000 0
O 20,000
= 10,000
Al 10,000
LRV SZ AN B} 35,000 34,400 600
301 YptBAZ 35,000 11,400 23,600
10 BAAHIS A S 35,000 11,400 23,600
OLUX0SZAYS 2D} 12,000
o x| 700,008 * 2CH * 3 4,200
o | 40,0009 * 304 * 2 2,400
o Al 20,0008 * 602 * 3 3,600
o | 10,0009 * 60 * 3 1,800
OLYUZH=BNS &It At 23,000
oAERY 5,000
O] AH| 50,0008 * 602 9,000
o eS| 5,0008 * 60% * 302 9,000
Ss0ss 243 X2 443,946 809,446 365,500
= 77,512
= 4,000
Al 362,434
TTEHB 2 35,000 35,000 0
= 19,703
Al 15,297
403 XHXICHAI S KH= 0l & 35,000 35,000 0
= 19,703
Al 15,297
02 B 2SOl CHat CHE AL b 35,000 35,000 0
OBZEZAZ 29 35,000
= 19,703
Al 15,297
Buese & 29 50,000 55,000 A5,000
307 BI2t0IA 50,000 55,000 A5,000
05 SI2teIeta 50,000 0 50,000
OHH23to & 29 50,000
S0E BBEND 29 8,000 8,000 0
= 4,000
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B 2a0snE
ool 2slzEs BHE N (el @2
_ _ _ Muo
SN B SR(BH) - MEAY - BES 0l & o e SImE=ET
Al 4,000
307 QI12t0I & 8,000 8,000 0
=2 4,000
Al 4,000
02 BItANEX 8,000 8,000 0
Os0HE B3&EM2 23 8,000
= 4,000
Al 4,000
Ne2etd At 2SXI2 96,880 399,880 /303,000
&2 53,809
= 4,000
Al 39,071
307 QI2t0IA 96,880 99,880 23,000
= 53,809
& 4,000
Al 39,071
02 BIAANEX 96,880 99,880 23,000
ONgd=sd AMges X 67,280
= 43,009
Al 24,271
OXNL=Zsta AARZ2E el2dt| 21,600
= 10,800
Al 10,800
ONgEstel NEY Mg 8,000
& 4,000
Al 4,000
=23 843 199,066 240,566 241,500
201 LEH2HH| 3,860 3,860 0
01 AtR 22| 3,860 3,860 0
o2
,000& * 504 * 43] 1,200
osig% 2,660
SOIZHA HolgRsl BAag
70,000& » 7H = 53 2,450
CEHOIE SSUSBE NS FHL
g 70,000& » 3H = 13 210
202 O4Hl 5,390 5,390 0
01 WY 5,390 5,390 0
o280 5,390
203 ¥R =&l 8,000 8,000 0
03 AZFLYR 8,000 8,000 0
O2sienE 8,000
301 EtEA = 10,516 10,516 0
10 HAAHIZ2 &3 10,516 10,516 0
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SH: 2R
NH: WESs BE Y MBS
=Pl sds= JIsdS (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
oAMEE € NSk SINLHEES
50,0008 * 23| 100
cMIIRZE 1,600,000& = 12& 19,200
oyotrER3 100,000& = 123 1,200
odatx AR 350,000& * 3& = 13 1,050
CBUYI OHEAM AN 22
250,000& = 2CH = 13l 500
ocEHER ddid 28R 3,500
ogt=s=¢gzal Hald 3,000
oZ3M 23712 2,500,000& » 12& 30,000
Osds= 2 500,000& * 244 = 5 5,000
OXt&Hl 33,600
oZBAHI A 30,000
ocYURE XY 300,000& = 104 » 12 3,600
OAl£2&EHl =gl 10,124
ocZHs= RAlZc 5,000
ocdJletd e E Y 94,000+ 123 1,128
o ROIFHAMAEY FXl2tel
166,500& * 2JHA + 128 3,99
202 O 4,592 4,592 0
01 =LHOYI 4,592 4,592 0
Os=%3 & et=S=g3 AFA 599
OZZ0IHE & d=J s 2,800
O0kts= e 1,193
206 M= dl 16,200 16,000 200
01 M=l 16,200 16,000 200
Ostetxd Mz +8 3,000
Os2U=R FHl MR (AHHS) 5,000
Os=zUREY M=+ (256t==LED) 5,000
ogtEz 2¢ 3,200
401 Al&ZHI LRI 20,000 10,000 10,000
01 Al£Hl 20,000 10,000 10,000
OS&=E4A HMelAd E+3At 20,000
Ordst HIDIZSE =4 5,500 0 5,500
401 AIEHIZL 20U 5,500 0 5,500
01 Al£Hl 4,000 0 4,000
OOrM3st 22| T8 &XI(2Etel) 4,000
03 A2 204HI 1,500 0 1,500
OSsEr&Hgn2 (20 £ HME)
300,000& = 1CH = 5& 1,500
SaRe 2E 2L 404,500 237,910 166,590
= 175,000




=25t
HESH 2E U M
Sy BEBL (el @2
_ _ _ N E
SA B HRA(SH) - MRAY - B Abod G HIREY
Il 18,900
= 90,020
Al 120,580
M 2= 23,000 9,890 13,110
202 O4Hl 3,000 3,000 0
01 WY 3,000 3,000 0
O B3 d2F& 3,000
401 Al&HI YL S OHYI 20,000 5,000 15,000
01 Al&H| 20,000 5,000 15,000
OEERs A2 EH| 20,000
INXNEEZSM SE22ly| 31,500 30,020 1,480
Il 18,900
& 2,520
Al 10,080
101 el 24| 31,020 29,520 1,500
Il 18,900
L= 2,520
Al 9,600
04 JI2tHIZ2E2NEE S 31,020 29,520 1,500
O Eg2el 224 B 31,020
Il 18,900
= 2,520
Al 9,600
206 M=l 480 500 A 20
01 M=zl 480 500 A20
O2M 22BE 7Y 480
=IHXE =23 E=+=FH| 350,000 198,000 152,000
= 175,000
& 87,500
Al 87,500
401 Al EHIL 201 350,000 198,000 152,000
= 175,000
& 87,500
Al 87,500
01 Al&H| 347,320 196,704 150,616
OT HH®SI|4A EFHIALY 49,460
= 25,000
L= 12,500
Al 11,960
OFEN 22 24TH| A 297,860
= 150,000
& 75,000
Al 72,860
03 AIZR0iH 2,680 1,296 1,384




2A: 2223t
d: MSES B L S
©He: 2otga BEERL =T |
= = o HE T =
2N -3 - c2(3H) - NEME - HES AFoH '@E% =&
OF EHHSIIA E4FUIAIY 20|
49,460,000& = 1.08/100 535
OZEAN Y2 20U
297,860,000& = 0.72/100 2,145
s XS 6,992,034 9,557,300 A2,565,266
s 215,000
J| 2,972,000
= 461,500
Al 3,343,534
ZLUCHH AlEE 35 41,200 58,000 A 16,800
ZAEE ALS A 41,200 58,000 A 16,800
401 Al EHILE20HH] 41,200 58,000 A 16,800
01 Al&H| 41,200 58,000 A 16,800
OHEZAl OIDIX E2E WA
15,0002 * 4000 = 23] 1,200
OCUHEO0I0IX =28 FH|
5,000,000 * 404 2 20,000
O ZOHNEXE X Y HbI
2,000,000 * 109H A 20,000
S22 0HHE 522,935 531,475 A8,540
dE2 2o B4 12,000 14,000 A2,000
301 LEtB A= 7,000 7,000 0
10 SAIAHIEAS 7,000 7,000 0
OZZotULY s ¥ ME0 23RS W)
= 7,000
307 QI2t0l A 5,000 7,000 A2,000
02 QIZtEAEX 5,000 7,000 A2,000
OTHBENHF=THEOG 2 5,000
2ZOHHA S 73,046 74,396 A1,350
101 @l H| 52,234 39,192 13,042
04 JIZtMZ22XsSE+ 52,234 39,192 13,042
OozZotla 24 26,117
=Jl2z 44,6508 * 2H * 230 20,539
oxgY 44,650 * 2Y * 47 4,198
o Z2HAH| 3,000& » 29 = 230 1,380
O2Z=92 29 26,117
oJlga 44,6503 * 2% * 230 20,539
oxgaY 44,6503 * 29 * 47 4,198
o 2HAH| 3,0008 = 2% * 230 1,380
201 Let249h| 14,812 13,204 1,608
01 AtR22|dl 6,688 5,200 1,488
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2N 22230
Hm: BBAY XS
ool 2Z2ES OAE (ctel &
BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
SN HH . GA(BH) - NEAY - B2 Sh Ofl & o e
401 AIEHIZ 201b] 24,000 0 24,000
01 Al&HI 24,000 0 24,000
O=U -2 243 824 X
4,000,000& * 63 24,000
B-50 F=A 22,000 20,000 2,000
201 LEt23| 20,000 18,000 2,000
03 A2 I 20,000 18,000 2,000
OHEN JIE8E M 25,000& + 2004 5,000
OWAL & HAEAL 2HA BEA 15,000
301 YptE A= 2,000 2,000 0
10 HALAHIEAZ 2,000 2,000 0
O=UWHAAS 2t=3 N 2,000
Z2=EEE H& 72,500 99,000 A 26,500
201 LEt23| 72,500 99,000 226,500
01 AtR22ldl 72,500 99,000 A 26,500
OZE2HHUHXNE X = 400& = 150,000% 60,000
O=e 2N AMI M
2,500& * 5,000= 12,500
2N AFAEED 2 3,000 0 3,000
307 2I2t0| ™ 3,000 0 3,000
02 QI2tBZAEX 3,000 0 3,000
OZZNE AFZANYEE D 29 3,000
22 2= 2 54 1,431,203 1,385,053 46,150
= 15,000
Al 1,416,203
EHEH & E R 130,000 131,000 A 1,000
201 Ler23| 130,000 61,000 69,000
03 A2 I 130,000 61,000 69,000
OEHHAEZM (UM SH) HE 130,000
SHE JIBtAE =4 30,000 25,000 5,000
401 AIEHIZ20b] 30,000 25,000 5,000
01 Al&HI 30,000 25,000 5,000
OXNHR 2Sot=28 4 15,000
OMAE HIIAE &X 10,000
O=HE JIetAld 4Xl 53 5,000
oS0l =H 30,000 30,000 0
201 etIH| 30,000 30,000 0
03 A2 ZHI 30,000 30,000 0
O L0I=HM ARG 30,000




SN B2
Hu: pBAY IS
Cel: BRIE 22 2 84 CLR-E
A BB O(B) - NEAY - BAS Of o e Hl R =2
EHEH SAIUIOF HIAEIE 250,000 250,000 0
201 LBt 210,000 210,000 0
03 dArZEHI 210,000 210,000 0
ORMI152] EHES SAIUIOF HIAEIYE S#A2YE 210,000
307 212t01H 40,000 40,000 0
04 CIZFHALE X 40,000 40,000 0
ORHMI153| EHE S AIUIOH HAEIE 40,000
MAE =X 243t 161,203 119,053 42,150
201 LEt243d| 102,950 60,800 42,150
01 AtE222|Hl 49,800 37,800 12,000
OfId=¢ 2,800
oEF JIEO AASE AL
70,000& * 109 = 43| 2,800
=M OHEH S 4HESEZ
400,000& * 3& ~ 101& 12,000
OtHeist =2S X 200 E 30,000
oc=EM, =ZEX At 2F3 10,000
oc=FM, =Z2EX JINE BHEN 10,000
ocEEM, =Z2gX sE2 X 10,000
(@) PN Y= 5,000
oEME JIBAIE =4 U=
500,000& * 2CH = 5¢& 5,000
02 22234l 33,150 3,000 30,150
O=MNE HIIes 3,150
O==M HE 423 30,000
03 A2 20,000 20,000 0
OMHAE =H 88 10,000
O=HM 228 id2Jl HA 10,000
202 (4| 9,253 9,253 0
01 =LA b 9,253 9,253 0
O=H 43t & 2FEx | 9,253
203 HRF&H| 10,000 10,000 0
03 AEFIHRFAY| 10,000 10,000 0
O=H 43 =& 10,000
301 LetEAZ 29,000 29,000 0
10 At HIEa =3 9,000 9,000 0
OEHEAl =M 243t F3s WA 6,000
O MOt AAIRA A 3,000
12 JIEtE 43 20,000 20,000 0
OzZ =M 22 2=gH HEE M3 20,000




SH: 2R
Ha: pEAY XE
ol 2T 22 YL 84 (el:@g
_ _ _ Muo
SA BB H(BH) - MBAY - B2 O A+ 24 il b o HRs2
307 2120/ & 0,000 10,000 0
05 pI2telera 10,000 10,000 0
OZREHOIN SN 2] 10,000
EHE AL == 830,000 830,000 0
= 15,000
Al 815,000
201 Ygreg| 710,000 650,000 60,000
= 15,000
Al 695,000
03 & A2 | 710,000 650,000 60,000
ORI183 B4 =5 BALY 710,000
= 15,000
Al 695,000
307 212+0| & 120,000 180,000 60,000
04 QIABALR X 120,000 180,000 60,000
ORI183 A& == 120,000
BEX FH L N 4,987,313 7,573,590 A2,586,277
3 215,000
| 2,972,000
= 446,500
Al 1,353,813
BRI FTAAY 50,540 50,540 0
401 AEHIL 20 50,540 50,540 0
01 Al&| 50,000 50,000 0
OBBIIBELBA 50,000
03 Al& = 0HH] 540 540 0
OBZIIBZHTA Al 2]
50,000,000& * 1.08/100 540
DYUTH AL SR 2 230,983 111,860 119,123
101 Q1248 41,054 0 41,054
04 JAR2RISES 41,054 0 41,054
ORQAES 2% 41,054
S 34,5602 * 488 * 2302 31,796
oFgay 34,5602 * 4% * 472 6,498
o2talY| 3,00020 * 488 * 2302 2,760
201 LByl 148,079 103,160 44,919
01 At 33,299 19,800 13,499
o2 ANRSE 2Y 10,0002 * 122 1,200
OEE22 ¢s SHR3 200,0008 * 122 2,400
ogtER A2II| ARE 7Y
300,0008 * 23| * 444 2,400




SN 2TED
B pEieY WS
ol BEX EH L Y (Sl a2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
Oul2n 2y B84
70,0002 * 158 23] 2,100
OAZEF0f 7L (3S) 500,000 * 3% 1,500
OF4I YHE 49,9002 + 128 599
OR2 Y HAX 2L 100,008 * 18 100
Os=2lB3 N 1002 * 10,0005 10,000
Og=R0im 222B M
3002 * 5,000 * 25 3,000
Ougs YA 7Y 5021 * 200,000% 10,000
02 BB 104,780 83,360 21,420
O#IIR3 5,000,008 * 128 60,000
OudlaE 23 600,002 * 122 7,200
OsANE 2L 600,000 * 23] 1,200
Ost=EI Iz bl 50,0002 * 1] 50
OFIILS 442 210,0002 * 43l 840
ON+EHL +48 1,200,0002! * 23] 2,400
SEEBIE-EIE-F- RS-
57,5008 * 20} * 128 3,780
OQEIY A 442 50,0008 + 12042 600
ORABIAIAY BH242
315,008 * 122 3,780
OfI8Ys +UE 35,0008 * 128 420
OS43| 5,000
ou2w Hiet e 1,000,0002! * 23] 2,000
SEEETIE-PN 1,500,000 * 23| 3.000
ORBOAY 0182 500,0002! * 13l 500
O o= 2,000,008 * 52 10,000
Oz2I| FIIEY 400,000 * 2CH 800
O%Ea Alg |2 5,000
OXHS A 150
ONSXEE2 560
Oxtet 2,500
03 A2 H| 10,000 0 10,000
Ostea SEII=F JHE 10,000,008 + 13 10,000
202 0it] 3,000 2,000 1,000
01 =uHoid] 3,000 2,000 1,000
osgn gexy 300,000 * 103] 3,000
206 T2 bl 14,450 2,000 2,450
01 M2t 14,450 2,000 12,450
OxZ22S 5% % HIERY
1,000,008 * 23| 2,000
OBAEY % 7Y
10,0002 * 100 * 305 3,000
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SN

> A0
fon
£

2z
Hu: pMe NE
Celt 2B XM Y WY (el @)
_ _ HE T
S HH - (BH) - MBAY - B2 O & 04 il b o HRs2
401 AEHIL S0 300,000 800,000 A500,000
3 150,000
= 45,000
Al 105,000
01 Al&d| 297,855 794,960 A497,105
OR2A BEX E4 297,855
3 150,000
= 45,000
Al 102,855
03 Al CHY] 2,145 5,040 A2,895
OS2 BEX T4 ALY
297,855,00020 * 0.72/100 2,145
AAZ 2R30002] FA 90,000 0 90,000
3 40,000
= 12,000
Al 38,000
307 212+0| & 10,000 0 10,000
04 QIHBALBE 10,000 0 10,000
OAtAZ 2@300021 20| A 10,000
401 NEHIYL S0 80,000 0 80,000
3 40,000
= 12,000
Al 28,000
01 Al&H| 79,286 0 79,286
OAtAZ 2R30002] T4 AHLS 79,286
3 40,000
= 12,000
Al 27,286
03 Al CHY] 714 0 714
OAAZ 2R300021 ZAAIY AILSOHHI
79,286,0002 * 0.90/100 714
NE2ZIA L T2 Ny 50,000 0 50,000
3 25,000
& 7,500
Al 7,500
201 Yereoty| 50,000 0 50,000
el 25,000
< 7,500
Al 17,500
01 At 50,000 0 50,000
ONEBZDA HY L OHHE - DH0IE HIF 50,000
z 25,000
= 7,500
Al 17,500
BBIIBAIL B2 9,383 9,182 201




SN BB
I BBAY XE
SHol: BEIIBtAIE el (erel: @2
_ _ MNuE o
SA - SR(E) - HRAY - BES 01l &4 24 i HIRE
2L B 2Y 9,383 9,182 201
101 2124t 4,463 4,262 201
04 JAM2EXNS B4 4,463 4,262 201
O HBHH 22X B4 4,463
colea 34,5602 * 5% * 7Y * 33 3,629
oxgay 34,5609 * 5% * 12 « 33 519
o 2tAl| 3,008 * 58 * 72 « 33 315
201 Yer2ey| 1,920 1,920 0
02 ZZSIH| 1,920 1,920 0
OFIIQAFMBL| U442 160,008 * 128 1,920
206 T2l 3,000 3,000 0
01 MZH 3,000 3,000 0
OJES FAUXY HEPY 2,000
Oz HIZ YW X2 7 1,000
Y PH(Z 23 ) 65,862 60,956 4,906
ol e | 17,578 16,064 1,514
ol 2y 17,578 16,064 1,514
101 21244l 17,578 16,064 1,514
03 RIHAZERES 17,578 16,064 1,514
OBESUBHABNE 2ol 221 24 17,478
oolea 34,5609 * 1% * 250 8,640
oA012 8,640,0002! * 4/12 2,880
CUXNRBEINSY 34,5608 * 1 » 202 692
oAlZtel 4 g
5,008 * 12 * 20AI2t » 128 1,200
oxgay 34,5602 * 19 * 52 1,798
SN 8,640,0002 * 10/100 864
o H LM MY 16,072,0002! * 5/100 804
SY=E-Ep]T 300,0008 * 1% * 23 600
SN 100
DIEET 48,284 44,892 3,392
DL 48,284 44,892 3,392
201 Yer2y| 39,924 36,852 3,072
01 AtR2t2lt| 39,924 36,852 3,072
ORNE2Y JI=3H| 6,000
oI 300,0002! * 122 3,600
og2AER 200,0008 * 122 2,400
ONREE 7 3,600
o= 200,0002! * 122 2,400




2 2223t
Y YA (HZ 23
&2l Jl=3Hl &
S E O (EH) - MRAY - B s e
- o= ° I T ° - (= (=3 =5 O:H{ﬂ,%
cENHs=2 100,000& = 123 1,200
OAHBAIRINI 22 ¢ 9,900
ozt&)|= 300,000& = 5CH = 33 4,500
ozt 300,000& = 2CH = 33| 1,800
o ZZ=H 300,000& = 1CH = 33 900
oz gt 300,000& * 1CH = 33| 900
cEHs=2 300,000& * 2CH = 33| 1,800
OF=1=i:] 19,236
ozt&)|= 7,000 + 1798 = 72 * 128 9,99%
ocEHEZ2 7,0008 * 6% « 102 » 12& 5,040
ot At 22
7,000& * 5% » 102 » 12& 4,200
OF2I| dUZ (AMR4A)
49,000& ~ 104 » 12& 588
OAdeEs iz 600
ozt&)|= 20,0004 * 12& 240
ocEHE=2 15,000 * 2CH * 12& 360
202 O4Hl 4,160 3,840 320
01 =LA b 4,160 3,840 320
OHI&Z R 2l 4,160
203 LEZH| 4,200 4,200 0
04 EARIHRFEH 4,200 4,200 0
ORMZIHRF=2AHI 350,000& * 12& 4,200




